Assembly Instructions
LCC-202 Classic Swing

Required Tools:

- Hammer

- 7/16" Wrench or Socket
- 1/2" Wrench or Socket

Hardware:

- Swing Chains

- (6) 1/4" x 2" Bolts

- (6) 1/4" Flange Nuts

- (2) 5/16" x 5 3/4" Eye Bolts
- (4) 5/16" Flange Nuts

- (2) 5/16" x 5" Eye Bolts
- (4) 5/16" Washers

- (4) 1/4" x 3 1/2" Bolts

- (4) 5/16” Lock Nuts

- (4) 1/4” Washers

- (4) Connecting Links

- (4) 1/4” Locknuts

3 ; D Step 1l

: | Position back (A) and seat
(B) as shown and fasten
with (6) 2" bolts & nuts.

Step 2

Attach arm assembly (C) as
shown with (2) 3 1/2" bolts,
washers and lock nuts in
seat. Thread a 5/16" flange
nut on all eye bolts as far
as thread allows with flange
away from eye. Now use 5
3/4" eye bolts to fasten back
of arm to the back. Tighten
with 5/16" washer and
locknut. Use 5" eye bolt for
front of arm through hole
provided and fasten with
5/16" washers and locknuts.

Step 3

Attach chain to eye bolt with 4
connecting links.

Complete

WILDRIDGE

PURVEYORS OF QUALITY POLY FURNITURE

www.wildridge.com
330-893-4212
\ © 2017




